PABE A B 2 B icfipd v 11488 1-47 P&
p ¥ W (H ) LT WP
. 2 5 R (500g) | 4 %
114.1.6 |& < 2 & T (2500 | 6 ¢
114. 1.6 [4k3F42. &) 540 Witk 3 &
FEREQ@A/E)| 30 ¢
114. 1. 14|~ % L RE + T2 45 (1. 5kg) 3 4
& v k(2. 8L) D FL
114. 1. 14|35 28, s = ¥ (2. 2kg) 1 4
114.1. 14| % 2 5 (2. 2kg) 1 &
114.1.20|% 13, =5 % B EGA/E)| 90 ¢
N FEE@ /)] 90
H4. 1200 5 2 k(2. 8Ix6%0 3 i
114.1. 20 % = % L 2 3 ks (380g) | 6 4F
- W% (2. 5kg) 12 4%
114.1.20(5 & 3 T (1000 | 20 4
114.1. 20 % = % L B 1 &
114. 1. 20[+k-] 2% Zv ok (2.8Lx67g 1 4
TR, ZRE. R TS
AkiE BEE. AR
114.1.20|% %4k, ¢ = £, hfes, 2B BB /)| 180 ¢
IR E . BRI
i ‘f"ﬁ%. %5‘—? 7 G QY
114. 1. 22| #8 =5 4 FEEQ@ /)| 180 ¢
114.1.22| s A% % B L 24 ¥ (1. 5kg) 6
114.1.22]% 3 2 2 5 (400g) | 40 4
n R R ¥ 7 L o ¥ (2kg) 2 4
4. 1.26|% 3R #E2 -2+ % i (2508) | 12 ¢
e o 4 (750g) 6 4
114.2. 10| % = Z . #i& 5 w5 (1. 45kg) 6 i
WAL Rk TR, [JRAP (248) 4 %
114.2. 10| thiesh. 5§ §iée. R4, [ 244 (4000ml) | 20 5%
E AR, BEE, BRE. [EAHFQ000ml) | 40 £
25 (300g)| 5 @
X 2 7k (500gxd 6 &K
114.2. 10 % =+ L BB /e)] 10
2o ok (2.8Lx67y 3 #
1% B
114. 2. 174k v 3352 HEF F 7557 PVC+ % (100~)| 60 £




7 #4 (600g) 90 &

LR QU I A B (100~ ) 10 £

HA-2 10 e ang (202) | 44
L R (40¢) 3 #

114.2. 1983 2 23 (5) 2 @ [iBv k(2. 8Lx657 10 #
# % 2 (1700ex6{ 6 4

s (2. 2kg) 40 ##

o Bt (204 ) 3 4

114.2. 20|45 3% %~ ¢ T 0] 2k
£ 50 (700ml) | 24 4@

BAT (129) 5 {1

w5k 2L, [EEA(04s) | 10H

114,37 R A W #?ﬁ“'ﬁ. 54 7% (400ml) 26 5%
O |RREIR S S kR [ 5 (200mD) 4 5
B R EY BRI, &L K(208) 5 4

114.3. 18| 2 % hlmx. pmws = 60 i%
114. 3. 18 (Mt 7 +~ P4 2 (100~ 10 £
114. 3. 18 |38~ 4 2(00~) 10 ¢
114.3.18|% & & U+ 2 (100~ b &
114. 3. 18|51 # o F R+ 2 (100~ b £
114. 3. 18|32 = #% P4 2 (100~ b &
114. 3. 18|+ & U9+ 2 (100~ b £
114.3.18|% = % U+ 2 (100~ 10 £
114. 3. 18|Volvo xcb0 & < & fy U E200~) 10 £
114. 3. 18|30~ AB e (58 ) 1 4
114.3. 184 & @ A er R (5é) 1 4
114. 3. 18|Volvo xc60 & < & 3 AMB e A (he ) 4 %
114. 3. 18| = 2£ MB e A (Hh# ) 1 #
114.3. 18| %L M e (5¢) 1 4
114. 3. 18| %] 442 My er (58 ) 1
114.3.18|;x p i@ H e 21 v 3% AB e (58 ) 1 4
R FXFA0R 2 £

2 o Bt X i 2 4 (2000gx6] 2 4
113.3.23|% 2+ #4t & L inae ¢ w24 ) 24
L Aq(5e) 6 &

114.3. 28|/ % & < B @ Bt 1 60 4#
%+ 54(500g) 36 ¥3,

FHokfHFraaP 7 Az ) 30 &

114.4.8 |5 ., £ P (122) 30 £




w2000 24 #g

e E (3] 36 ¢

Slerh LB A4 |T5%FE(4000L) | 6 4

114.4. 14| %+, £ 4878, ¥ 574, |02 (42 x4] 4 %
B BELE RRE e k(2.8L) 36 #%

: 75%EwE (500ml) | 34 #g

14.4.22) 3 % 2 s55 (250mlx24%] 1 44
114.4.22|3 & % 75%EE (500m1) | 8 #g
# ¢ 2 (1100gx64 2 #

114.4. 23| 2 %2 2 427 B A 7 |4 7(200mIx2d 4 4

A B % F (3000




